BiralSoft - Model Questions and Answer :

Q1-3)Read the following statements carefully to answer these questions:

Statements:

1. Mohan and Ram play hockey and football.

2. Edward and Ram play football and cricket.

3. Mohan and Rafiq play tennis and hockey.

4. Refiq and Edward play cricket and tennis

1. Name of the who plays hockey, football and tennis.

(1) Edward (2) Ram (3) Mohan (4) Rafiq

2. Name the boys who plays hockey, football and cricket.

(1) Ram (2) Mohan (3) Rafiq (4) Edward

3. Name of the boy who plays hockey, cricket and tennis.

(1) Mohan (2) Ram

(3) Rafiq (4) Edward

4. A gets 10% more marks than B.Then B gets

(1) 10% more marks than A

(2) 10% less marks than A

(3) 9 111% more marks than A

(4) None of these.

5.A and B invest Rs.200 and Rs.300 respectively in a business for a period of 3 years, respectively. Then the profit will be divided in the ratio

(1) 4:3 (2) 2:3 (3) 1:1 (4) 6:5

6. The speed of a boat in still waters is10 km/hour. If it can travel 26 km downstream and 14 km upstream in the same time, then the speed of the stream is

(1) 4 km/hour (2) 4.5 km/hour (3) 5 km/hour (4) 3 km/hour

7. A can do a price of work in 40 days. He worked at it for 5 days. Then B alone finished it in 21 days. The number of days that A and B together take to finish the work is.

(1) 15 (2) 14 (3) 13 (4) 10

8. 15 years hence, a man will be just 4 times as old as he was 15 years ago. His present age is

(1) 10 years (2) 15 years (3) 20 years (4) 25 years

Answers:

1.(3)

2.(1)

3.(3)

4.(4)
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